residuals

residuals

residuals

residuals

residuals

VEGA 2012-09-29 / 56200. 01
1.0F

0.8¢
N 0.6¢
- 0.4f
0.2
0.0k

0

48 . | .
1.407 1.427 1.447
B/ es

VEGA 2012-09-29 / 56200. O
1.0F

0.8}
0.6}
0.4+ VY A Az

0.2 ‘ﬁ‘qﬁﬂgﬁ i';

0.0k

0.24F
0.00}
—0.24¢
2.817

N

's' oo -’ “.$.$.~'..‘.~‘

2.851 2.886
B/ les

VEGA 2012-09-29 / 56200. 03

1.0F I }

0.8f

4
&0.6— ﬂ I
o Tl iad

0.0k 4

0.88F :
°
O OO' 'o‘.' L o ‘.0 ';‘ o.:‘“o‘; 7]
L2 .

—0.88}
1.323 1.368
B/A e8

VEGA 2012-10-26 / 56226. 99
1.0F

A
0.8—% Yoo IIQ
0.6f HA% Ly #
n
0.4
0.2

0.0k

0.32f :
O OO' ° " o 0% u" ® 0 ”'.'o

0o % o

_O 32 ! <
6.01 6.23 6.45

B/ le7
VEGA 2012-10-27 / 56227.97
1.0f T
04l %
0.4}

0.2

0.0k

0.48F o

0.00¢} U
—0.48t -
6.11 6.15 6.19

N

VEGA 2012-09-29 / 56200. O
1.0F

0.8¢
0.6¢
0.4f

A

02 pmpadaleeg

0.0k
0.24f

0.00f  wwiwwis e
~0.24t
2.704

N

residuals

2.737 2.770
B/ es

VEGA 2012-09-29 / 56200. 03
1.0F

0.8¢
0.6f
0.4f
0.2

N

o
o

LOOO

residuals
w 00 O 00
?
l
'.
5

1.472
B/ leg

VEGA 2012-09-29 / 56200. 03
1.0F

0.8¢
0.6¢
0.4f
0.2

0.0k

0.32F -
0.00}  NeEwMians, oot
—0.32L

2.750

N

residuals

2.786 2.822
B/) 1e8

VEGA 2012-10-27 / 56227. 91
1.0F

0.8} -
0.6} 1
C& = -

Con
e
»

residuals

18 4.44 4.69
B/ 1e7

VEGA 2012-09-29 / 56200. O
1.0F

0.8¢
N 0.6¢
- 0.4f
0.2
0.0k

0. g
0.00f i oufansis®,
0.48L

3.665

residuals

3.703 3.742
B/ es

VEGA 2012-09-29 / 56200. 03
1.0F

0.8f
N 0.6¢
- 0.4f
0.2

0.0k

0.24F
0.000  uwpimmpdis deoy

_O 24 I 7
2.8606 2.903 2.941
B/ es

VEGA 2012-09-29 / 56200. 03
1.0F

0.8¢
N 0.6¢
- 0.4f
0.2

0.0k

0.48f
0.00}
—0.48L
3.710

residuals

residuals

3.734 3.757
B/A e8

VEGA 2012-10-27 / 56227. 97

1.0F il
i

0.8}
N 0.6}
- 0.4}
0.2

0.0k
0.56F —
0.00} EENS
—0.56L . _
6.03 6.07  6.10
B/ le7

residuals

VEGA 2012-09-29 / 56200. 01
1.0F

0.8¢
0.6¢

0.4 4z 4 3 .

0.2} %
0.0t
.32F

O .

O O O B ‘.:o.o.o.‘o ~.‘ ° ~..~'J ””’.
0.32t

1.466

N

residuals

1.487 1.508
B/ es

VEGA 2012-09-29 / 56200. 03
1.0F

0.8¢
N 0.61
= 0.4f
0.2

0.0k

0.56F
0.00}
—0.56
3.866

residuals

3.890 3.915
B/ leg

VEGA 2012-10-26 / 56226. 99
1.0F

0.8f
N 0.6¢
- 0.4f
0.2

0.0t
0.48F
0.00F '+ o lulore e eee |
—0.48L = et :
8.08 8.29 8.51

B/A le7
VEGA 2012-10-27 / 56227.97

0.8t .I .
N 0.6}
>0.4—

0.2

0.0k

0.32F

0.00¢ St
_032‘ ! L -

4.45 4.48 4.51
B/ le7

residuals

residuals



